#### **Transfers Report**

This report contains the transfers results.

Contest Name	Ward 2 Clackmannanshire North	
Valid Votes	4,028	
Positions to be Filled	4	
Quota	806	

## Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Clare Pauline ANDREWS	Scottish Green Party	231
Donald BALSILLIE	Scottish National Party (SNP)	1,062
Martha BENNY	Scottish Conservative and Unionist	884
Gordon Alexander BRUCE	Scottish Liberal Democrats	128
Eva COMRIE	Alba Party for independence	84
William KEOGH	Scottish Labour Party	754
Fiona LAW	Scottish National Party (SNP)	605
Ian MILLAR	Independent	280
	Total	4,028

Candidate Donald BALSILLIE Elected with 1,062 votes, being in excess of the quota of 806 Candidate Martha BENNY Elected with 884 votes, being in excess of the quota of 806

## **Transfers Report**

This report contains the transfers results.

256.00000

## Stage 2 - Surplus of Donald BALSILLIE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Clare Pauline ANDREWS	91	0.24105	21.93555
Transfer to Gordon Alexander BRUCE	18	0.24105	4.33890
Transfer to Eva COMRIE	37	0.24105	8.91885
Transfer to William KEOGH	40	0.24105	9.64200
Transfer to Fiona LAW	804	0.24105	193.80420
Transfer to Ian MILLAR	20	0.24105	4.82100
No further preference	52	0.24105	12.53460
Not transferred due to rounding			0.00490
	Total		256.00000

## **Transfers Report**

This report contains the transfers results.

# Stage 3 - Surplus of Martha BENNY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Clare Pauline ANDREWS	33	0.08823	2.91159
Transfer to Gordon Alexander BRUCE	182	0.08823	16.05786
Transfer to Eva COMRIE	19	0.08823	1.67637
Transfer to William KEOGH	232	0.08823	20.46936
Transfer to Ian MILLAR	141	0.08823	12.44043
No further preference	267	0.08823	23.55741
Not transferred due to rounding			0.00468
	Total		78.00000

## **Transfers Report**

This report contains the transfers results.

## Stage 4 - Exclusion of Eva COMRIE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Clare Pauline ANDREWS	13	1.00000	13.00000
Transfer to William KEOGH	5	1.00000	5.00000
Transfer to Fiona LAW	41	1.00000	41.00000
Transfer to Ian MILLAR	11	1.00000	11.00000
Transfer to Clare Pauline ANDREWS	2	0.24105	0.48210
Transfer to William KEOGH	2	0.24105	0.48210
Transfer to Fiona LAW	28	0.24105	6.74940
Transfer to William KEOGH	1	0.08823	0.08823
Transfer to Fiona LAW	2	0.08823	0.17646
Transfer to Ian MILLAR	11	0.08823	0.97053
No further preference	14	1.00000	14.00000
No further preference	5	0.24105	1.20525
No further preference	4	0.08823	0.35292
Not transferred due to rounding			0.00000
	Total		94.59522

## **Transfers Report**

This report contains the transfers results.

# Stage 5 - Surplus of Fiona LAW

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Clare Pauline ANDREWS	278	0.04909	13.64702
Transfer to Gordon Alexander BRUCE	20	0.04909	0.98180
Transfer to William KEOGH	76	0.04909	3.73084
Transfer to Ian MILLAR	75	0.04909	3.68175
Transfer to Clare Pauline ANDREWS	332	0.01183	3.92756
Transfer to Gordon Alexander BRUCE	25	0.01183	0.29575
Transfer to William KEOGH	107	0.01183	1.26581
Transfer to Ian MILLAR	65	0.01183	0.76895
Transfer to Clare Pauline ANDREWS	2	0.00433	0.00866
Transfer to Gordon Alexander BRUCE	2	0.00433	0.00866
Transfer to William KEOGH	1	0.00433	0.00433
Transfer to Ian MILLAR	2	0.00433	0.00866
No further preference	197	0.04909	9.67073
No further preference	303	0.01183	3.58449
No further preference	5	0.00433	0.02165
Not transferred due to rounding			0.00570
	Total		41.61236

## **Transfers Report**

This report contains the transfers results.

## Stage 6 - Exclusion of Gordon Alexander BRUCE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Clare Pauline ANDREWS	37	1.00000	37.00000
Transfer to William KEOGH	48	1.00000	48.00000
Transfer to Ian MILLAR	27	1.00000	27.00000
Transfer to Clare Pauline ANDREWS	4	0.24105	0.96420
Transfer to William KEOGH	1	0.24105	0.24105
Transfer to Ian MILLAR	4	0.24105	0.96420
Transfer to Clare Pauline ANDREWS	13	0.08823	1.14699
Transfer to William KEOGH	94	0.08823	8.29362
Transfer to Ian MILLAR	31	0.08823	2.73513
Transfer to Clare Pauline ANDREWS	4	0.04909	0.19636
Transfer to William KEOGH	7	0.04909	0.34363
Transfer to Ian MILLAR	2	0.04909	0.09818
Transfer to Clare Pauline ANDREWS	8	0.01183	0.09464
Transfer to William KEOGH	4	0.01183	0.04732
Transfer to Ian MILLAR	1	0.01183	0.01183
Transfer to Clare Pauline ANDREWS	1	0.00433	0.00433
No further preference	16	1.00000	16.00000
No further preference	9	0.24105	2.16945
No further preference	45	0.08823	3.97035
No further preference	7	0.04909	0.34363
No further preference	12	0.01183	0.14196
No further preference	1	0.00433	0.00433
Not transferred due to rounding			0.00000
	Total		149.77120